Tripp Lite

1111 W. 35th Street
(] Chicago, IL 60609 USA
Telephone: 773.869.1234

www.tripplite.com

SmartRack 12U Desktop 2-Post Open-Frame Rack Highlights

e Maximum load capacity of 110 Ib.

MODEL NUMBER: SR2POST12 e Secures 12U of 19 in. rack

equipment up to 36 in. deep

e Heavy-duty steel construction
designed to last
e Easy to assemble with included
- hardware

—_— e Free-standing design rests on

rubber feet

Package Includes
e (2) Uprights
e (2) Base brackets

e Front cross member

e (8) M5 screws

e (20) M6 screws
Description e (20) M6 cage nuts

e (20) M6 cup washers
o (4) Rubber feet

o Owner’s manual

The SR2POST12 SmartRack® 12U Desktop 2-Post Open-Frame Rack provides an economical rack-mount
solution for laboratories, test setups, small network closets and other secure IT locations with limited floor space
where you need equipment to be organized and easy to access. It's ideal for mounting network switches, routers,

patch panels, audio/video components and other ElA-standard 19-inch rack equipment up to 36 inches deep.

Constructed from heavy-duty steel with a durable black powder-coated finish, the SR2POST12 has a maximum load capacity of 110 pounds. Stationed on a
desktop, floor or counter, this free-standing rack saves precious space and allows you fast, easy access at your immediate workspace for organizing, installing
and servicing equipment and cabling.

The SR2POST12 is easy to assemble using the included hardware. The vertical mounting rails have square-hole mounting and cable management slots for

securing equipment to the steel frame. Only user-supplied standard hand tools are required for setup.

Features

Saves Valuable Workspace

o Perfect for installing network switches, routers, patch panels and audio/video components in secure IT areas with limited floor space
o Houses EIA-standard 19 in. rack equipment up to 36 in. deep

o Maximum load capacity of 110 Ib.

Free-Standing Open-Frame Design
o Allows fast, easy access for organizing, installing and servicing equipment and cabling

o Rests on desktop, floor or counter at your immediate workspace

Easy Assembly and Installation
o Made from heavy-duty steel with a durable black powder-coated finish
e Easy to assemble with included hardware and user-supplied hand tools

o Vertical mounting rails with square-hole mounting and cable management slots

1/2



TRIPP-LITE

Tripp Lite

1111 W. 35th Street
Chicago, IL 60609 USA
Telephone: 773.869.1234

www.tripplite.com

Specifications
PHYSICAL
Rack Height (U Spaces) 12
Maximum Device Depth (in.) 36
Maximum Device Depth (cm) 91.44
Shipping Dimensions (hwd / in.) 3.7x3.3x254

Shipping Dimensions (hwd / cm)

9.4 x 8.38 x 64.52

Shipping Weight (Ibs.) 4.85
Shipping Weight (kg) 2.2
Unit Weight (Ibs.) 4
Unit Weight (kg) 181
Color Black
Weight Capacity - Stationary (Ibs.) 110

EIA Mounting Rails

M6 Cagenuts

Weight Capacity - Stationary (kg)

50

Maximum Device Depth (mm)

914

CERTIFICATIONS

Approvals

EIA-310-D, IEC 60297-3-100, RoHS

WARRANTY

Product Warranty Period (Worldwide)

5-year limited warranty

© 2017 Tripp Lite. All rights reserved. All product and company names are trademarks or registered trademarks of their respective holders. Use of them does

not imply any affiliation with or endorsement by them. Tripp Lite has a policy of continuous improvement. Specifications are subject to change without notice.

Tripp Lite uses primary and third-party agencies to test its products for compliance with standards. See a list of Tripp Lite's testing agencies:

https://www.tripplite.com/products/product-certification-agencies

212


https://www.tripplite.com/products/product-certification-agencies

T Life

Hu1Boe NapTHEPCTBO

000 “/1aiipINeKTPOHUKC” “LifeElectronics” LLC

MHH 7805602321 K 780501001 P/C 40702810122510004610 ®AKb "ABCO/IOT BAHK" (3A0) 6 2.CaHkm-Ilemep6bypee K/C 30101810900000000703 EUK 044030703

KomnaHus «Life Electronics» 3aHumaemcsi nocmaskamu 351€KmMpPOHHbIX KOMITOHEHMO8 UMIOPMHO20 U
omedyecmeeHHo20 rpouseodcmea om npoudeodumernel u co ckrnados KpyrHbix ducmpubbomopos Esporibi,
AMepuku u Asuu.

C koHua 2013 200a KoMraHusi akmueHo pacwiupsiem fuHelKy MocmagoK KOMIOHEHMO8 0 HarnpaeneHuo
KoakcuarbHbIl kabesb, Keapuesbie 2eHepamopbl U KOHOeHCcamopbi (KepaMuyeckue, nieHoYHbIe,
3neKmposiumuyeckue), 3a cuyém 3akntoyeHuss ducmpubbromopcKux 002060p08

Mbi1 npednasaem:

o KoHKypeHmocnocobHbie UeHbl U CKUOKU MOCMOSIHHbIM KITUeHmMam.

e CrieyuarsnbHbie ycrio8usi 07151 TOCMOSIHHbIX KITUEHIMO8.

e [lod6op aHarnoeos.

lMocmaeky KomMrnoHeHmMo8 8 ftobbix obbemax, y0oernemeopstouUx eawum MompebHoCMSsM.

lpuemnembie cpoku nocmasku, 803MOXHa yCKOPEeHHasi mMocmaska.
Locmaeky mosapa & ritobyto moyky Poccuu u cmpaH CHI™.
KomrinekcHytro nocmasky.

Pabomy no npoekmam u rnocmasky obpa3syos.

®opmuposaHue ckiada nod 3akaszyuka.

Cepmucgbukambl coomeemcmeus Ha rnocmassnseMyro npooyKyuUto (Mo XenaHu KueHma).
o TecmuposaHue nocmasnsemMou npodyKyuu.

e [locmasKy KOMMOHEHMOo8, mMpebyruux 806HHYIO U KOCMUYECKYH MPUEMKY.

e  BxodHoli KOHMposib Ka4yecmea.

e  Hanu4yue cepmugpukama I1SO.

B cocmaee Hawel komnaHuu opeaHu3oeaH KoHcmpykmopckuli omderst, npu3eaHHbIl MomMozamb
paspabomyukam, U UHXEHepaM.

KoHcmpykmopckuli omOen nomoaaem ocyujecmseums:

Pezaucmpauuro npoekma y npousgooumersisi KOMIOHEHMOS.

TexHu4eckyro no0depXKy rnpoekma.

Bawumy om cHaMuUs KOMroHeHma ¢ npoussoocmea.

OueHKy cmoumocmu fpoeKkma ro KOMIOHeHmam.

U3ezomoerneHue mecmosol rnnambl MOHMaX U ryckoHanadoyHbie pabomeil.

lattis % A g nncen TP intessil, Panasons (T U170 ATEL AMDIN EEEs

0KI ﬂ_[ [ SANYD Quaoww RENESAS  SIEMENS SHARP _ ’[:E”"—:,l
g Sy, [IE moxm s U AT €N [qaL

BOURNME

NS 7, Citwbond DALLAS Meare  Gllegns (inteD e | ™ RONM
International . . — .
..-nﬂm.n._,,.,_ w@ TosHiga ZETEX 'niemalofa Amphenol élantec uichicon FU]ITSU

Viccn 5, e Y Sice . @ su@ N [BTOKO

Ten: +7 (812) 336 43 04 (MHO20KaHANbHbI)
Email: org@lifeelectronics.ru

www.lifeelectronics.ru


mailto:org@lifeelectronics.ru
http://lifeelectronics.ru/

